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Base plate

L = 0.5em = 0.005m
w = _— 2
Heat flux | Conduction A = 300cm= 0.03m
h k= 15Wm' C
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k=15 Wim e °C
k,=12Wm s ° C
r, = 0.002m
r, = 0.007m

g = 50 Wem? = 50 % 10° W/m?

T =45°C
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T= Clor + G
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Interface
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in ceramic

(I,—1)+17 —(Q2)



AARANM ] dF5S 2o =

darT dT Ty
—RKR— = — el R
dr Ky dr h =+ T

250 wa} Wit - Ht gk AR

[¢)

(Ex 2-20) k(T)Q! "ol &= W3}

KT) = k(1 + gDAAMe dddE3 W 2

s
a

ke

=]
Run

N
I)Q_ (weT
U457
k(1+817)dT
i+ men
ave ]12_]1 0+ 5
d . dT,

T(O): Tiv T(L): ];

dT
w4
k(1+B7dT= Cdx  1+8T= 0

BdT = df



1 G &
Eedez Ldr=0dd= ""Ldx

kO kO
0 BC ., 286G
5 = R r+ G = 0= W x + G
26C, ,
0= + “r+ G
k(]
268G,
1+8T = + z+C
kO
26C,
BT = —1+ Lo+ G
kO
1, 126 G
T= ——=x4|-—Fz+—
B ko8 2

1 1 2k, x 2
T(z) = _Ei \/?_ Bk, Z(Tl—Tz)JrTerng



